Efficiency vs dr

x 0.0

.......

—=— DQM_V0001_R000000001__Global__mKkFitOLD__RECO
—— DQM_V0001_R000000001__Global__mkFit100__RECO

.| —— DQM_V0001_R000000001__Global__mkFit100tobtec_ RECO

1

1072 107

Ratio
||||||||I|III|

o
©
a

=
S
w

1
TP min AR

[ Efficiency vs dr (track,jet) |
§0.01
n0.009
-
gJ.OOS
9.007
>
2.006
Q
:-'=0.005
@
0.004
0.003
0.002
0.001
q

0.8

Ratio

0.6F

1073 1072

-1

1
AR(TP, jét)

Efficiency vs pu

5 0.0
o
9.009
3.008
(]
©®.007
=
%.006
0.005
0.004
0.003
0.002
0.001

Ratio

20 25 30 35 40 45 50 55 60 65
Pileup




	Contents
	Page 1


